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DIPLOMA IN FIRE SAFETY 
(:\J 
(X) 	 Term-End Examination 

December, 2013 

BSEI-025 : INTRODUCTION AND ANATOMY 
OF FIRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : PART-I - All questions are mandatory. 

PART-II - Any seven (7). 

PART-III - Any three (3). 

PART-I 
1. 	Fill up the blanks : 	 10x1=10 

(a) Exothermic reaction is chemical reaction 
which 	 heat. 

(b) Oxidation is a reaction which involves 
	 of oxygen. 

(c) Matter is something that possesses weight 
and 	 

(d) Burning of most materials produces 

	temperature is the temperature 
at which a substance will begin to burn. 
Temperature at which a solid 	 
is called melting point. 
Starvation is removal of 	 or 
combustible material. 
Section stainers are two types, metal and 

Water type extinguisher holds water which 
is expelled by gas 	 
Heat is energy possessed by a substance due 
to motion of 
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2. 	True or false (✓/ x ) 
	

10x1=10 
(a) Controlling factors of substances are ( ) 

temperature, pressure and volume. 

(b) Matter applies to solids, liquids, gases and ( ) 
vapour. 

(c) Combustion process requires, oxygen, heat 
and water. 

(d) In endothermic reaction heat is produced. 

(e) products of combustion are heat, flame, 
smoke, and fire gases. 

(f) Melting point is temperature a liquid boils 
under constant pressure 

(g) Fire produces carbon dioxide and carbon 
monoxide on decomposition of material. 

(h) Class D fire involves solids such as wood, 
paper and plastic. 

(i) Smothering is decreasing the degree of heat 
by interrupting chain reaction. 

(J) 
	combustion is series of reactions involving 

heat and light 

8x1=8 
3. 	Match the two columns A and B : 

A 

(a) Exothermic (i) Foam/DCP 
(b) Smallest particle (ii) Make up 
(c) Burning material (iii) Absorbes heat 
(d) Class B fire (iv) Produces heat 
(e) Dutch Roll (v) Flame 
(f) Breechings (vi) Atom 
(g) Endothermic (vii) Dividing/collecting 
(h) Boiling point of water (viii) 100°C 
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PART-II 	 7x6=42 
Attempt any seven : 

(a) Write a short note on properties of matter. 
(b) What a Triangle of Fire and Chain 

Reaction ? 
(c) 	Explain any three briefly : 

(i) Smothering 
(ii) Starvation 
(iii) Cooling 
(iv) Chemical interference 

(d) What is the method of extinguishing class B 
fire. 

(e) Write short note on Suction Hose. 
(f) 	Explain briefly the couplings. 
(g) 	Explain briefly oxidation. 
(h) Define melting point and boiling point. 
(i) 	Briefly explain spontaneous combustion. 
(j) 	Explain briefly ignition temperature. 

PART-III 
Any three to be attempted : 	 10x3=30 
(a) Explain in detail how to extinguish small 

fires. 
(b) Explain various categories/classes of fire. 
(c) What are delivery hose couplings ? Write in 

detail their designs and purpose of different 
types of couplings. 

(d) Explain in detail branches and nozzles 
explaining their purpose. 

(e) Explain hose reel hose, its design, 
construction, uses and operation. 
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(g) 	 4810   1,1 starvation 

-WO` I  

(h) -q1 	 *, qrT 3-117 

(i) qra-T z-qcr 	-) qd., 	14 1:1(9? c) .q-1-67 F-1mlrl4 

	  cni '.-c14-11c1 611 
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2. 	tizl 7-TT 3 (v/x) 	 10x1=10 

(a) Tf c 	ftlL (-114 4-11-1, T 	,11+1 	( ) 

1;1-  Iltc\tc-1 t 1 

(b) 4810 ch 1 71 	a1=1 q-fq 	 tri 	zIT `ITTLI 	( ) 

i)c-11 t 1 

(c) 	 fff4, 	 ,14-11 3t1-{ Tut ( ) 

1-)1 s5-1 tc\ 	*cl t 1 

(d) rdi-51-)q l 4 7PR-1 	61c11 t 1 	( ) 

(e) Q-1 i 1rldI 	Tg, 43T1, arm 	ti, 3t1T 	( ) 

1-q-r 6141 t 
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*1 

(g) 31-Fr -f- 711• ydpi 	1T 	51 3TM:117 ( ) 

t 	 t 1 

(h) cK-11(1"t' aITTT tR:f Liq107fTfr-T a4t, 	( ) 
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3. 	147E A 3 B 	ficEOTff c I 	 8x1=8 
A 

(a) tq=k1)-2.71:11- 	 (i) 	1f1DCP 

(b) T 	f Li 	I FJ*0 	 34-cr 

(c) 	ri 	yqt2f 	(iii) 	Trgif cl-;) qRui cf,1 

(d) i i 	13/34Trr 	(iv) 7-rff 

(e) (Dutch) sni tlrl 	(v) rR 

(f) til.Tl,(Breechings) (vi) 7-44 

(g) (vii) tW-g7 /c11-11 

(h)9-'r oh I 	c) 	 (viii) 100°C 

WPT-II 
"411:117 -917A chi 6-cR t I 

(a) 1I 	qiq 	_qtRiqc-il.  ITT -&-a faTclut -Wr-A7 I 	7x6=42 

(b) 	3-117 oh r->191-  3417   -gf-dr-q7rr ( chain 

reaction) GNI t? 

(c) 	r-14-1ropgd 	f 	(3) cf-d 	.4- 7 

(i) ••11 (Smothering) 

(ii) (Starvation) 

(iii) 6111 	 (Cooling) 

(iv) -TTTETzff9 	 (Chemical 
interference) 

(d)   'B' 3TiT1 	vr-4 	1,41 et-qt 	t I 

(e) 	:71 ITT -F-1:clufi.  WW--7 I 

(f) 	i7f 	t-11kir ftcco-ft 	I 
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FIRE AND SAFETY REQUIREMENTS IN 
DIFFERENT GROUPS OF BUILDING 

LC 
	

Term-End Examination 

CD 
	

December, 2013 
CD 

BSEI-026 : DFS 
Time : 3 hours 
	

Maximum Marks : 100 

Note : Q.No.1 all are compulsory. 

Q.No.2 any seven out of 10. 

Q.No.3 attempt any three out of 5. 

PART - A 

1. 	Fill in the blanks : 	 10x1=10 

(a) Buildings which are used for storage are 

classified under 	buildings as for 

NBC. 

(b) A column is a 	 load bearing 

member. 

(c) Block boards are made from core of separate 

wood blocks 	 together. 

(d) Force pumps have a solid piston called 

(e) Ejector pumps have no 	 parts. 

(f) All pumps should be subjected to 

monthly deep lift test. 

(g) Each section of a 35 ft ladder is 	 

feet when closed. 
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Hose reels should be sited at each 

level. 

Hose reels are first 

extinguishing equipment. 

Electrons in an atom are 	  

charged. 

PART - B 

1. 	True/False : 	 10x1=10 

(a) An optical detector has a light emitting 

source. 	 ( ) 
(b) Guy lines are normally 150 ft in length. ( ) 

(c) Bob lines are used for hauling heavy gear 

aloft. 	 ) 
(d) A centrifugal pump requires a separate 

priming device. 	 ) 
(e) Asbestos cement sheets have between 12 to 

15% asbestos. 	 ( ) 

(f) The expansion rates of steel and concrete 

are almost same. 

ead ,,trd zinc do 

v.uthoui 

accommodation tor iess 

grouped under grou'o 

in case of fire emerge:1- i 

rails en stairs 

) 
( ) 

, 	E.->ons tr 

Jse hand 

) 
Double glazing has fire resistancee 
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PART - C 

1. 	Choose the right option. 	 8x1=8 

(a) An institutional building is classified 
under : 

(i) Group A 

(ii) Group B 

(iii) Group C 

(iv) Group D 

(b) Asbestos cement sheets : 

(i) Are fire resistant 

(ii) Shatter in early stages of fire 

(iii) Shatter in later stages of fire 

(iv) None of the above 

(c) Cooling in a pump may be : 

(i) Direct or indirect 

(ii) Open circuit 

(iii) Indirect close circuit 

(iv) All of the above 

(d) In a quarterly output test a pump should 
be : 

(i) Run for atleast 5 minutes 

(ii) Run for atleast 10 minutes 

(iii) Run for atleast 15 minutes 

(iv) Run for atleast 20 minutes 
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(e) The 35 ft ladder when fully extended is 
actually : 
(i) 35 ft in length 
(ii) 34 ft 10" in length 
(iii) 35 ft 1" in length 
(iv) 34 ft 11" in length 

(f) 	Infra red detector is a : 
(i) Radiation detector 

(ii) Sampling detector 

(iii) Smoke detector 
(iv) Heat detector 

(g) Sprinkler heads are of : 
(i) Four types 
(ii) Three types 
(iii) Two types 
(iv) All of the above 

(h) Drenchers are used for : 
(i) 	External protection of the building 
(ii) Internal protection of the building 
(iii) Both internal and external protection 

of the building 
(iv) None of the above. 

2. Attempt any seven out of Ten questions : 	7x6=42 
(a) What do you understand by means of 

escapes ? 
(b) Write down classification of buildings as per 

NBC. 
(c) What is the purpose of evacuation plan ? 
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Write a short note on fire resistance of 

timber. 

What care and maintenance is required after 

the use of a pump ? 

What standard test is done on a hook 

ladder ? 

What are a hose reels ? What are their 

uses ? 

In case of fire what emergency migration 

fire procedure is to be adopted ? 

What are the causes of loss of vacuum in a 

pump whilst at work ? 

What checks will you carry out while 

carrying out hook ladder belt test. 

3. 	Attempt any three questions : 	 10x3=30 

(a) Write a short note on light scatter type 

detector. 

(b) What are the various types of building 

boards ? What are they used for ? 

(c) The importance of fire escapes cannot be 

overlooked. Describe the importance of fire 

escapes. 

(d) Describe the evacuation instructions that 

must be followed on hearing a fire alarm. 

(e) Write a short note on TTL. 
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